We have shown that the Hamiltonian can be (1)Written of the QHO as, $\hat{H} = \hat{P}_{1}^{2} + \frac{1}{2}m\omega^{2}\hat{x}^{2}$ And we seek eigenvalues and eigenstates for HIEZ=EIEZ or $-\frac{\hbar^{2}}{2M_{A}}\frac{d^{2}}{dx^{2}} f_{E}(x) + \frac{1}{2}m\omega^{2}x^{2} f_{E}(x) = Ef_{E}(x)$ Introducing the operator approach Instead of seeking a solution directly to the Diffy Q, we will introduce a new approach that relies on operators and Commutation relations -> why? =) Secause it is more widely applicable to totre QM systems them bute Forcing the Diffy Q.

Notice :

$$\begin{aligned}
\left(\frac{p^{2}}{2m} + \frac{1}{2}mw^{2}x^{2}\right)P_{E} &= EP_{E} \\
Sum of squares !
when duings commute nicely ,
$$(u^{2}+v^{2}) &= (u^{2} - iuv + iuv + v^{2}) = (u+iv)(u-iv) \\
(u^{2}+v^{2}) &= (u^{2} - iuv + iuv + v^{2}) = (u+iv)(u-iv) \\
Commute so = 0
\end{aligned}$$
Now this approach will work for us even when things don't commute like $[x, \beta] = it$, but when things don't commute like $[x, \beta] = it$, but when to pay attention to order.
Raising at howering (Ladder) Operators
Let's first newrite \hat{H} to have some dimensionless pairts,
 $\hat{H} = \frac{\hat{p}^{2}}{2m} + \frac{1}{2}mw^{2}\hat{x}^{2} = \frac{1}{2}mw^{2}[\hat{x}^{2} + \frac{\hat{p}^{2}}{m^{2}w^{2}}] = \frac{\pi w}{\pi w} \frac{1}{2}mw^{2}[\hat{x}^{2} + \frac{\hat{p}^{2}}{m^{2}w^{2}}] = \pi w \begin{bmatrix} \frac{mw}{2\pi} \frac{p}{2}x^{2} + \frac{\hat{p}^{2}}{w^{2}w^{2}} \end{bmatrix}$$$

$$\hat{H} = t_{i}w \sum_{zh} \sum_{x} \sum_{x} \sum_{x} \frac{\hat{p}_{x}^{2}}{m^{2}w^{2}} \int_{x}^{z}$$

$$Now \quad our \quad goal \quad is \quad to \quad factor \quad the \quad Hamiltonian$$

$$Yhat \quad is \quad the \quad key \quad do \quad this \quad method.$$

$$(Like \quad u^{2}+v^{2} = (u+iv)(u-iv) \quad we \quad want \quad to \quad tactor \quad H.)$$

$$We \quad introduce \quad a \quad d \quad a^{\dagger} \quad Ca'' \quad and \quad 'a - dagger')$$

$$Q \equiv \int_{zh}^{mw} \sum_{x} (x + i \quad mw) \quad Non - theimitian \; operators$$

$$t \quad \sqrt{mw} (x + i \quad mw) \quad Non - theimitian \; operators$$

$$q^{\dagger} \equiv \sqrt{\frac{m\omega}{2\pi}} \left(\stackrel{\text{at}}{x} - i \stackrel{\hat{p}^{\dagger}}{m\omega} \right) = \sqrt{\frac{m\omega}{2\pi}} \left(\stackrel{\text{at}}{x} - i \stackrel{\hat{p}}{m\omega} \right)$$

So that $a^{+}a = \frac{m\omega}{2\pi} \left(\hat{x} - i \frac{\hat{p}}{n\omega} \right) \left(\hat{x} + i \frac{\hat{p}}{n\omega} \right)$ $= \frac{m\omega}{2\pi} \left(\hat{x}^{2} + \frac{\hat{p}^{2}}{n^{2}\omega^{2}} + i \frac{\hat{x}\hat{p}}{n\omega} - i \frac{\hat{p}\hat{x}}{n\omega} \right)$

$$a^{\dagger}a = \frac{m\omega}{2\pi} \left(\hat{x}^{2} + \frac{\hat{p}^{2}}{n^{*}\omega^{2}} + \frac{i}{n\omega} \left[\hat{x}\hat{p} - \hat{p}\hat{x} \right] \right) \qquad (4)$$
our squand $[x,\hat{p}] = i\pi$ $[ack of - int]$
 $a^{\dagger}a = \frac{m\omega}{2\pi} \left(\hat{x}^{2} + \frac{\hat{p}^{2}}{n^{*}\omega^{2}} + \frac{i}{m\omega} \left[\hat{x}\hat{p} \right] \right)$

$$S, \qquad a^{\dagger}a = \frac{m\omega}{2\pi} \left(\hat{x}^{2} + \frac{\hat{p}^{2}}{n^{*}\omega^{2}} + \frac{i}{m\omega} \left[\hat{x}\hat{p} \right] \right)$$

$$S, \qquad a^{\dagger}a = \frac{m\omega}{2\pi} \left(\hat{x}^{2} + \frac{\hat{p}^{2}}{n^{*}\omega^{2}} - \frac{\pi}{m\omega} \right)$$

$$a^{\dagger}a = \frac{m\omega}{2\pi} \left(\hat{x}^{2} + \frac{\hat{p}^{2}}{n^{*}\omega^{2}} - \frac{\pi}{m\omega} \right)$$

$$a^{\dagger}a = \frac{m\omega}{2\pi} \left(\hat{x}^{2} + \frac{\hat{p}^{2}}{n^{*}\omega^{2}} \right) - \frac{1}{2}$$

$$with$$

$$\hat{H} = \pi w \left\{ \frac{2m\omega}{2\pi} \left[\hat{x}^{2} + \frac{\hat{p}^{2}}{n^{*}\omega^{2}} \right] \right\}$$

$$A = \pi w \left[\hat{x}^{2} + \frac{\hat{p}^{2}}{n^{*}\omega^{2}} \right] = \frac{1}{2}$$

$$A = \pi w \left[\hat{x}^{2} + \frac{\hat{p}^{2}}{n^{*}\omega^{2}} \right]$$

$$A = \pi w \left[\hat{x}^{2} + \frac{\hat{p}^{2}}{n^{*}\omega^{2}} \right] + \frac{1}{2}$$

$$A = \pi w \left[a^{\dagger}a + \frac{1}{2} \right] \qquad (a^{\dagger}a + \frac{1}{2})$$

$$W = (an \otimes hw) \quad aa^{\dagger} = \frac{mw}{2\pi} \left(\hat{x}^{2} + \frac{\hat{p}^{2}}{n^{*}\omega^{2}} \right) + \frac{1}{2}$$

$$S = yu t \qquad (a^{\dagger}a - \frac{1}{2})$$

How obes this relate back to our original
objective?
$$H|E = E|E$$
?
Using this form of H we can see
New H acts on a $|E >$ and we
will uncover the energy spectrum.
 $[H,a] = Ha - aH$
 $= \pi \omega (a^{\dagger}a + \frac{1}{2})a - a\pi \omega (a^{\dagger}a + \frac{1}{2})$
 $[H,a] = \pi \omega (a^{\dagger}aa - aa^{\dagger}a)$
Note $aat = 1 + a^{\dagger}a$ from $[a,at] = 1$
 $[H,a] = \pi \omega (a^{\dagger}aa - (1 + a^{\dagger}a)a)$
 $= \pi \omega (a^{\dagger}aa - a - a^{\dagger}aa) = -\pi \omega a$
 $Similarly$
 $[H,a^{\dagger}] = +\pi \omega a^{\dagger}$

$$\begin{aligned}
Ha^{\dagger} &= a^{\dagger}H + twa^{\dagger} \\
Ha^{\dagger}|E\rangle &= a^{\dagger}H|E\rangle + twa^{\dagger}|E\rangle \\
&= a^{\dagger}E|E\rangle + twa^{\dagger}|E\rangle \\
&= a^{\dagger}E|E\rangle + twa^{\dagger}|E\rangle \\
Ha^{\dagger}|E\rangle &= (E + tw)(a^{\dagger}|E\rangle) \\
So! a^{\dagger}|E\rangle & is an unnormalized ergenstole of H with digenvalue $E + two!$
Now we can see how these are "raising a lowering" or ladder operators.
The energy wongs (the spectrum) are speced by tw!
$$\begin{aligned}
a^{\dagger}f \\
a^{\dagger}f \\$$$$

We can find the fill spectrum by realizing
thure's some ground state where
a) Eground
$$7 = 0$$
 no more lower
adder termination condition States!
so with H,
 $\hat{H}|E_{ground} > = \hbar w (a^{\dagger}a + \frac{1}{2}) |E_{ground} >$
 $= \hbar w a^{\dagger}a |E_{ground} > + \frac{1}{2} \hbar w |E_{ground} >$
 $\hat{H}|E_{ground} = \frac{1}{2} \hbar w |E_{ground} >$

We can write some of the results
compactly by assuming
$$|n\rangle$$
 is the
ligenstate.

$$H|n\rangle = (n+\frac{1}{2})twln >$$

 $\langle n|n\rangle = 1 \quad \langle m|n\rangle = \delta mn$